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0.741 £ 0.004 £ 0.091
0.787 £ 0.002 £ 0.071
0.793 £ 0.002 £ 0.063
0.742 £ 0.001 £ 0.067
0.776 £ 0.002 £ 0.057
0.786 £ 0.004 £ 0.062
0.781 £ 0.005 £ 0.056
0.768 £ 0.005 £ 0.057
0.958 £ 0.008 £ 0.072

0.697 £ 0.001 £ 0.060
0.691 £ 0.005 £ 0.049
0.698 £ 0.001 £ 0.042
0.740 £ 0.002 £ 0.050
0.747 £ 0.003 £ 0.052
0.808 £ 0.005 £ 0.055
0.822 £ 0.005 £ 0.063
0.821 £ 0.006 £ 0.068
0.915 £ 0.010 £ 0.075

0.613 £ 0.003 £ 0.044
0.657 £ 0.002 £ 0.040
0.684 £ 0.002 £ 0.048
0.724 £ 0.003 £ 0.054
0.733 £0.003 £ 0.058
0.764 £ 0.005 £ 0.066
0.788 £ 0.008 £ 0.076
0.788 £0.011 £ 0.098
0.904 £0.015 £ 0.126

0.536 £ 0.005 £ 0.044
0.614 £ 0.003 £ 0.062
0.665 £ 0.004 £ 0.057
0.683 £ 0.006 £ 0.070
0.707 £ 0.008 £ 0.077
0.735£0.029 £0.119
0.733 £0.030 £ 0.118
0.739 £ 0.065 £ 0.124
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0.803 £ 0.009 £ 0.120
0.795 £ 0.003 £ 0.093
0.769 £ 0.002 £ 0.084
0.762 £ 0.003 £ 0.080
0.750 &£ 0.003 £ 0.075
0.761 £ 0.008 £ 0.074
0.776 £0.018 £ 0.078
0.730 £ 0.008 £ 0.079
0.843 £ 0.005 £ 0.095

0.748 £ 0.003 £ 0.091
0.846 £ 0.002 £ 0.090
0.842 £ 0.001 £ 0.081
0.845 £ 0.002 £ 0.078
0.819 £+ 0.002 £ 0.076
0.797 £ 0.002 £ 0.077
0.803 £ 0.006 £ 0.084
0.780 £ 0.004 £ 0.092
0.839 £ 0.009 £ 0.104

0.840 £ 0.003 £ 0.090
0.874 £ 0.002 £ 0.084
0.859 £ 0.002 £ 0.081
0.870 £ 0.003 £ 0.089
0.852 £ 0.005 £ 0.086
0.843 £ 0.002 £ 0.099
0.827 £ 0.005 £ 0.100
0.777 £ 0.009 £ 0.104

0.866 £ 0.012 £ 0.098
0.927 £ 0.002 £ 0.086
0.924 £ 0.003 £ 0.092
0.911 £ 0.003 £ 0.107
0.881 +0.004 £ 0.140
0.919 £ 0.008 £ 0.153




